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Time, Speed and Distance

8. Jayesh goes to office at a speed of 6

km/h and returns to his home at a speed

of 4 km/h. If he takes 10 hours in all,

what is the distance between his office

and his home ?
a. 20 km

b. 22 km
724 km

d. 18 km
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Time, Speed and Distance

9. e & fog gt 2 fRieeht @ Wag 6 7=t 3R

9. Two trains for Patna leave Delhi at 6 am
and 6:45 am and travel at 100 km/h and
136 km/h respectively. How many
kilometers from Delhi will the two trains
be together ?
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a. 200 km
b. 220 km
c. 240 km

d. None of these
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Time, Speed and Distance

10. A car driver driving in a fog, passes a
pedestrian who was walking at the rate of
2 km/h in the same direction. The
pedestrian could see the car for 6 minutes
and it was visible to him upto a distance of
0.6 km. What was the speed of the car?
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11. A freight train left Delhi for Mumbai at an 11. U® HTERTIS! 40 il der &t siwa nfa |

average speed of 40 km/h. Two hours
later, an express train left Delhi for
Mumbai, following the freight train on a
parallel track at an average speed of 60
km/h. How far from Delhi would the
express train meet the freight train ?
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12. A train moves at a constant speed of 120 12. U® ¢-LUS fhardter a& 120 i/ ger &t
km/h for one kilometer and at 40 km/h  fRR 7f @ 3k 3@ v fpeiiiter @ 40
for the next one kilometer. What is the feit/der @t ey nifa | gaat 81 29 @t

average speed of the train ? 3a @ﬁmﬂt ?
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Time, Speed and Distance

13. A car travels 1/3 of the distance on a 13. U® R At S WX g BT 1/3 YW 10

straight road with a speed of 10 km/h ,
the next 1/3 with a speed of 60 km/h and
last 1/3 with a speed of 20km/h. What is
the average speed of the car for the
whole journey ?

a. 30 km/h
b. 16 km/h

c. 18 km/h
d. None of these
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a. 30 ffi e
b. 16 f&dt/der
c. 18 fdt/der
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